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INTERMEDIATE LOGIC | QUIZ 1
Lessons 1-2 (25 points)

MName

1. How does propositional logic differ from categorical logic? (3)

2. What is a propesition? (1)

3. What does it mean that a proposition is truth functional? (2)

4. Give an example of a proposition that is #ot truth funcrional. (2)

5. Give an example of a simple proposition. (2)

Problems 6-12: Given: V means You eat your veggies.
M means You eat your meat.
D means You get dessert.

Translate the following symbolic propositions into words.
6. ~V(1)

7. Mwv~D(2)

8. ~(VeM)(2)

Translate the following propositions into symbols.

9. You eat neither your veggies nor your meat. (2)

10. You eat your veggies but you do not get dessert. (2)
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11. You eat your meat or your veggies, but you don't eat both. (3)

12. Are the letters V, M, and D used above constants or variables? Explain how you know. (3) .




INTERMEDIATE LOGIC | QUIZ 2
Lessons 3—4 (18 points)

. MName

1.  Complete the truth table for the conditional logical operator (2):

p p=q

T
T
F
F

e B L < I I [

Problems 2-7: Given the following: K means The knight attacks the dragon.
D means The dragon devours the damsel.
T means The damsel is trapped in the tower.

Translate the symbolic proposition into English.
2. T=D(2)

3. De~K(2)
@

4, (TvD)2KI(3)

Symbolize the proposition. (2 each)

5. The knight attacks the dragon if the damsel is trapped in the tower.
6.  The knight attacks the dragon only if the dragon devours the damsel.

7. The damsel is trapped in the tower unless the dragon devours the damsel.

Problems 8-10: If A and B are true propositions, and X and Y are false propositions, determine
the truth value of the given compound proposition. Circle T for true, F for false. (1 each)

8. XA T F
9. Bo(~X2Y) T F
10. Yo X T F
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INTERMEDIATE LOGIC | Test 1, Form A
Lessons 1-4 (40 points)

Name

1. What is another word for a proposition? (1)

2. Givean example of a truth-functional, compound propasition (in words, not symbols). (2)

3.  Explain the major differences between simple propositions and compound propositions. (3)

4. What are the differences between propositional constants and propositional variables? (3)

Problems 5-12: Symbolize the proposition using the given constants.

M means We see a movie. P means We eat popeorn.
C means W eat candy. G means We play a game.

We do not see a movie. (1)

We eat popcorn and candy. (1)

We see a movie or play a game. (1)

We do not both see a movie and play a game. (2)

b N A

We do nort eat popcorn but we see a movie. (2)

10. If we see a movie then we eat popcorn. (1)

11. We play a game and ear candy, or we see a movie
and eat popcorn. (2)

12. If we see a movie then if we eat popcorn then we
do not eat candy. (3)
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13. Complete the truth table for each of the given compound propositions. (4)

~p __pvq pe*q p>q

e Bl I B I 1=
o B - I I =

Problems 14-15: Construct the truth table for the compound proposition on the line to the right.

14, ~(~p v q) (4)

15. po(ger) (5)

Problems 16-20: Assume the propositions A and B are true, X and Y are false, and P and Q are
an wunknown truth value. Find the truth value of each compound proposition. If true circle T,
if false circle E If the truth value cannot be determined, circle ? (1 each)

16. AvX T F ?
17. YeP T F 2
18. BoQ T F ?
19. X=2Q T E ?
20. (AvP)eX r F ?



INTERMEDIATE LOGIC | Test 1, Form B
Lessons 1-4 (41 points)

Name

1.  Give a synonym for the term proposition. (1)

2. Whart is a logical operator? (2)

3. Wharisa pmpusitinnal variable? (2)

4.  Give an example of a truth-functional, compound propesition (in words, not symbols). (2)
Problems 5-13: M means [ listen to music. S means [ like to sing along.

D means [ like to dance. P means [ pf:z_]r an instriment.

Symbﬂlizf: the fﬂl]ﬂwing propositions:

5.
6
7.
8
9.

10. 1 listen to music only if I like to sing along. (2)

I do not play an instrument. (1)

If I listen to music, then I like to dance or sing along. (2)

I like to sing along unless I play an instrument. (2)

I neither listen to music nor play an instrument. (2)

I do not like to both dance and sing along. (2)

Translate the following symbolic propositions:

11. ~Sv~P(2)
12. Pe~5(2)
13.

(Me~P)S5(3)
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14. Complete the truth table for each of the given compound propositions. (4)

q ~p peq pvg p>Og

oo - o
o= o

Problems 15-16: Construct the truth table for the compound proposition on the line to the right.

15. ~p>q(3)

16. pe(qvr)(5)

Problems 17-20: Assume the propositions A and B are true, X and Y are false, and P and
Q are an unknown truth value. Find the truth value of each compound proposition. If true
circle T, if false circle E If the truth value cannot be determined, circle ? (1 each)

17. PeX T F ?
18, ~(XvY) T F ?
19. ~B2Q T F ?
20. Po(AeD) T F ?



INTERMEDIATE LOGIC | Quiz 3
Lessons 5-6 (24 points)

MName

1. What is a tautology? (2)

2. Complete the defining truth table for biconditional. (2)

p_qg p=q
T T
T F
F T
F F

Problems 3-6: B means One believes in Christ. D means One is drawn by the Father.
C means One comes to Christ.  E means One has e’wrﬁm.‘:'ng f{ﬁ.

Translate the following symbolic propositions (2 each):
3. ~Bo~E

4. C=D

Symbolize the following propositions (2 each):

5. No one comes to Christ unless the Father draws him.

6. One believes in Christ if and only if one has everlasting life.

Problems 7-8: Set up the biconditional between the pairs of propositions, and determine if
they are logically equivalent, contradictory, or neither. (6 each)

7. pe~q = ~pvgq 8. ~p=q = p=~gq
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INTERMEDIATE LOGIC | Quiz 4
Lesson 7 (35 points)

. MName

1.  What does it mean that an argument is valid? (2)

Problems 2-3: Use a truth table to determine the validity of the given argument. Remember to
write VALID or INVALID. If invalid, circle the row(s) which show invalidity. (5, 8)

2. ~(peq) q ..~p 3. p=lgQvr gor . pog

Problems 4-5: Translate the argument into symbolic form on the line using the given con-
stants. Then use a truth table to determine the validity of the argument. Remember to write
vALID or INVALID. If invalid, circle the row(s) which show invalidicy. (10 each)

4. Ifagovernment becomes tyrannical, then it will take away the rights of citizens. A govern-
ment takes away the rights of citizens if and only if the citizens are complacent. Thus, a
government does not become tyrannical or the citizens are complacent. (T, R, C)
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5. Ifyou brush and floss regularly then you will have healthy teeth. You brush regularly but
you do not floss regularly. Therefore you will not have healthy teeth. (B, F, H) I



INTERMEDIATE LOGIC | Test 2, Form A
Lessons 5-7 (54 points)

Name

1. What is a tautology? Give a symbolic example of a tautology. (3)

Problems 2-3: Circle T if the statement is true, circle F if it is false. (1 each)
2. A biconditional is true if and only if both parts are true. T F

3. Ifthe conclusion of a valid argument is false, one of the premises is false. ~ T F

Problems 4-6: Symbolize the proposition using the given constants.
B means You eat breakfast. L means You eat lunch.
D means You eat dinner. H means You are hungry.

4. You eat lunch or dinner, but you don't eat breakfast. (3)

5. You eat lunch only if you dont eat breakfast. (2)

6. You are not hungry if and only if you eat breakfast and dinner. (3)

Problems 7-9: Assume the propositions A and B are true, X and Y are false, and P and Q are an
unknown truth value. Determine the truth value of each compound proposition. If true circle
T, if false circle E If the truth value cannot be determined, circle ? (1 each)

7. (Ae~X)=~B T F ?
8. ~P=2(P2Y) T F ?
9. PoQ)v(iQ2P) T F ?

10. Construct a truth table on the line below to determine if ~ p > q is equivalentto p v q. (5)

Are they equivalent?  Yes No
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11. Construct a truth table on the line below to determine if p = q contradicts p=~q. (5)

Are they contradictory?  Yes No

Problems 12-13: Use a longer truth table to determine the validity of the given argument. Re-
member to write vaLID or INVALID. If invalid, circle the row(s) which show invalidity. (5 each)

12. p>q p .. peg 13. pvq ~p . p=q

Problems 14-15: Translate the argument into symbolic form on the line using the given con-
stants. Then use a longer truth table to determine the validity of the argument. Remember to
write VALID or INVALID. If invalid, circle the row(s) which show invalidiry.

14. He is a prince if and only if his mother is a queen. Either he is not a prince or his mother
is not a queen. Thus, he is not a prince. (B Q) (8)

15. Scott and Rachel are not both students. Scortr is a student or Luke is a student, Therefore,
if Luke is a student then Rachel is not a student. (S, R, L) (10)




INTERMEDIATE LOGIC | Test 2, Form =
Lessons 5=7 (51 points)

MName

1. Give a symbolic example of a self-contradiction. (2)

Problems 2-4: Circle T if the statement is true, circle F if it is false. (1 each)

2. The negation of any self-contradiction is a tautology. T F
3.  If the antecedent of a conditional is false, the conditional is considered true. T F
4. Aninvalid argument can have true premises and a true conclusion. T F
Problems 5-7: Symbolize the proposition using the given constants. (2 each)

B means You read books. T means You travel. L means You will learn.

5. Ifyou read books or travel then you will learn.

6. You will not learn unless you read books.

7. It is not the case that you travel but will not learn.

Problems 8-10: Assume the propositions A and B are true, X and Y are false, and P and Q are
an unknown truth value. Determine the truth value of each compound proposition. If true
circle T, if false circle . If the truth value cannot be determined, circle ? (1 each)

8. ~(AeX) T F
9. (Pv~P)>~B T F 2
10. Q=(Y> Q) T F 2

11. Construct a truth table on the line below to determine if p v q is equivalent to ~ (p ® q) (5)

Are they equivalent?  Yes No
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12. Construct a truth table on the line below to determine if p ® q contradicts p= ~q. 13)

Do they contradict?  Yes No

Problems 13-14: Use a longer truth table to determine the validity of the given argument. Re-
member to write vaLiD or iNvaLID. If invalid, circle the row(s) which show invalidity. (5 each)

13. pvq D S ~q 14. poq q-op . p=Qq

Problems 15-16: Translate the argument into symbolic form on the line using the given con-
stants. Then use a longer truth table to determine the validity of the argument. Remember to
write VALID or INVALID. If invalid, circle the row(s) which show invalidity.

15. He is a native if and only if he was born here. He was not born here. So he is not a narive.

(N, B) (7)

16. 'The Seattle Symphony and Nirvana are not both great bands. The Seattle Symphony is a
great band if the London Orchestra also is. Thus, if the London Orchestra is a great band
then Nirvana is not. (S, N, L) (10)




